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m# Lls DY &X
lapt-get update -qq # &XE LUOO0E
lapt-get install fonts-nanum* -qq # & XI&tCt. fonts-nanum*

Selecting previously unselected package fonts-nanum.

(Reading database ... 121913 files and directories currently installed.)
Preparing to unpack .../fonts-nanum_20200506-1 all.deb ...
Unpacking fonts-nanum (20200506-1) ...

Selecting previously unselected package fonts-nanum-coding.
Preparing to unpack .../fonts-nanum-coding_2.5-3_all.deb ...
Unpacking fonts-nanum-coding (2.5-3) ...

Selecting previously unselected package fonts-nanum-eco.
Preparing to unpack .../fonts-nanum-eco_1.000-7_all.deb ...
Unpacking fonts-nanum-eco (1.000-7) ...

Selecting previously unselected package fonts-nanum-extra.
Preparing to unpack .../fonts-nanum-extra_20200506-1 all.deb ...
Unpacking fonts-nanum-extra (20200506-1) ...

Setting up fonts-nanum-extra (20200506-1) ...

Setting up fonts-nanum (20200506-1) ...

Setting up fonts-nanum-coding (2.5-3) ...

Setting up fonts-nanum-eco (1.000-7) ...

Processing triggers for fontconfig (2.13.1-4.2ubuntu5) ...

import matplotlib.pyplot as plt
import matplotlib.font_manager as fm
import matplotlib as mpl

import numpy as np

# ZE Y HA=2

path = '/usr/share/fonts/truetype/nanum/NanumGothicEco.ttf"’

# =E ZEHEl 44

font_prop = fm.FontProperties(fname=path, size=10)
font_name = font_prop.get name()

print(font_name) # NanumGothic Eco

# ZE HUXMO =& It



fm.fontManager.addfont(path)

# matplotliblf ZEE &
plt.rc('font', family=font_name)

# SJ\ _\_1.}\||:||:§ /\—lx-l

mpl.rcParams[ 'axes.unicode_minus'] = False

# 0H 22X
plt.figure()
plt.plot([-3, -2, -1
plt.text(e0.5, 0.5, '
plt.legend()
plt.show()

9,

)
st=

—

label="S= HAE")

3
)
| A E "', ha='center', va='center', fontproperties=

E H

Is
A

I J‘

NanumGothic Eco

i

[

[
]
g
=
LM
(%]

# Odold =4
data = np.random.randint(-200, 100, 50).cumsum()

# JHEZE O st2 =0l
plt.plot(range(50), data, 'r'")
plt.title('Al2tE It =01")

Text(0.5, 1.0, 'Al2tg Jr2 =01")
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pip install konlpy

Collecting konlpy
Downloading konlpy-0.6.0-py2.py3-none-any.whl (19.4 MB)
19.4/19.4 MB 36.4 MB/s eta

Collecting JPypel>=0.7.0 (from konlpy)
Downloading JPypel-1.5.0-cp310-cp310-manylinux_2_17_x86_64.manylinux2014_ x86_6
4.whl (488 kB)

488.6/488.6 kB 35.8 MB/s eta

Requirement already satisfied: 1xml>=4.1.0 in /usr/local/lib/python3.10/dist-pack
ages (from konlpy) (4.9.4)

Requirement already satisfied: numpy>=1.6 in /usr/local/lib/python3.10/dist-packa
ges (from konlpy) (1.25.2)

Requirement already satisfied: packaging in /usr/local/lib/python3.10/dist-packag
es (from JPypel>=0.7.0->konlpy) (24.90)

Installing collected packages: JPypel, konlpy

Successfully installed JPypel-1.5.0 konlpy-0.6.0

02 HHAE [ 0| &4
2x2 0|53}

doc_ko = open("youtubu_comment.csv").read()
doc_ko[1:1000]
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import nltk

from konlpy.tag import Kkma #1010 Of
from konlpy.tag import Hannanum ### StLI=
# OKT 2HAE 0|28 HALEQ

from konlpy.tag import Okt ###t Okt

t = Kkma()

%%time

doc_nouns = t.nouns(doc_ko)
doc_nouns

CPU times: user 1min 57s, sys: 1.47 s, total: 1min 59s
Wall time: 1min 45s
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plt.figure(figsize=(12, 6))
ko.plot(50)
plt.show()
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wn St20 M= 2 =W ALEO0l 810, ez HENL L= I2de 2H 222 =
stop_words = ['cl', &', 'Ol", '&", 'U',
|O:i|, |j‘__||, IL}"J 'jH'J IU‘_.IIJ
I[[HI, '9', l_+_l, |?_|J |E_||)
IETSI, II_II, l}_l, I[:HIJ ||_£||) IE”I’ Iil, IEI_I, lil_l, IEIIJ I%l,
1O 1 <1 l_?_l L) L | =< [ =] |g|.5| ] ] LI == |
= Y = =, = = (S T =] B E) A
|j‘||) |%|’ lgo:‘l, |[:||_H|, |390@|’|[H||, |E| l;l, |[_‘:_)||) |1|) l2l,l3
I6', I7l, l8IJ I9I, Il:l_jl_l, II:I__$_I]
new_ko = [ ]
for one_word in ko:
if one_word not in stop_words:
new_ko.append(one_word)
### nlLtk Text 2 M S S|
= 0

= ol

new_ko = nltk.Text(new_ko, name="0t0]
plt.figure(figsize=(12,6))
new_ko.plot(50)
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<Axes: xlabel='Samples', ylabel='Counts'>

most_fre = new_ko.vocab().most_common(50)
most_fre
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from wordcloud import WordCloud, STOPWORDS

import numpy as np
from PIL import Image



In [21]:

In [22]:

In [23]:

data = new_ko.vocab().most_common(1000)
ol © = o
03 HIAE O|0|H A|Z2-RE SR E
2xt2 0| S5}7|
g FIE SctRE ZE=S Qe HO0IH M4
#r# A2E0 A2H0] 2 R.
wc = WordCloud(background_color="white',
max_words=200,
# mask=Car_mask,
contour_width=3,
contour_color="steelblue",
font_path=path).generate_from_frequencies(dict(data))
plt.figure(figsize=(12,8))
plt.imshow(wc)
plt.axis("off")
plt.show()
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